MiniMax® Plus Outdoor Vent and Indoor Drafthood Kit
Owner’s Manual

IMPORTANT SAFETY INSTRUCTIONS
READ AND FOLLOW ALL INSTRUCTIONS
SAVE THESE INSTRUCTIONS

AWARNING

Before installing this product, read and follow all warning notices and instructions accompanying this heater kit.
Failure to follow safety warnings and instructions can result in severe injury, death, or property damage.
Call 1-800-831-7133 for additional free copies of these instructions.

Important Notice

a
M Attention Installer.
This manual contains important information about the installation, operation and safe use of this
“ " product. This information should be given to the owner/operator of this equipment.

’tb Pentair

Pool Products®

Because reliability matters most ®

\. J

Pentair Water Pool and Spa, Inc.
1620 Hawkins Ave., Sanford, NC 27330 . (919) 566-8000
10951 West Los Angeles Ave., Moorpark, CA 93021 . (805) 553-5000

Rev. C 8-15-01 1 P/N 470540




Outdoor Vent Kit includes: Indoor Drafthood Kit includes:

Item Quantity Item Quantity
v 1 Outdoor Stack 1 1a Indoor Drafthood 1
2 Top Cover 1 2 Top Cover 1
() ) 3 "L”brackets 3 4 Flue adaptor 1
4 Flue adaptor 1 - #8x1/4” s.m. screws 6
d - #8x1/4” s.m. screws 6 - #8x1/2” s.m. screws 2

@/ 9 - #8x1/2” s.m. screws 2

Tools needed:
Drill
3/32” drill bit
1/4” nut driver

A

d
\

49

The MiniMax Plus heater is shipped as an outdoor stackless unit.

To install the outdoor vent (stack) or indoor drafthood kit:
Inner

" Panel 1. Take out the louvered (outdoor) vent top assembly, after first
removing all sheet metal screws fastening it to the cabinet.

. Place the flue adaptor (#4) over the flue collector. Temporarily, put the

Flue top cover (#2) on the heater. Center the flue adaptor the stack hole on
@ Collector the top cover (#2). Remove the top cover, without disturbing the flue
adaptor, and with the #8 x 1/2” drill kwik screws provided fasten the
adaptor to the inner panel.

Replace the top cover (#2) on the heater cabinet.

Heater 4. Install the vent stack (#1), or indoor drafthood (1a), over the flue

adaptor’s top ring.

Vent
Position the “L” (#3) brackets to fasten the outdoor stack to the top

Top Cover cover (#2), and using the 3/32 drill bit and using the brackets as a
guide, drill pilot holes on the stack and top cover, (see illustration).

Adaptor )
Secure the vent stack (#1), or drafthood (1a), to the top cover (#2) using

the provided #8 x 1/4” sheet metal screws through the “L” (#3) brackets.

Fasten the cabinet side inspection plates to the holes on the ends of
the top cover (#2) using six of the painted sheet metal screws removed
in Step 1. The top cover (#2) holes should align with the holes in the
side inspection plates if they do not revolve the top cover through
180 degrees.

Heater

N o o

SAVE THESE INSTRUCTIONS

Pentair Water Pool and Spa, Inc. }:b Pentair
P

1620 Hawkins Ave., Sanford, NC 27330 . (919) 566-8000 ool Products®
10951 West Los Angeles Ave., Moorpark, CA 93021 . (805) 553-5000 Because reliability matters most®

P/N 470540 2 Rev. C 8-15-01



